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영어 영역

2-1. 다음 글의 밑줄 친 부분 중, 어법상 틀린 것은? 
The Adventures of Tom Sawyer ① is regarded as one of 

the great American novels, but at one point its author 

despaired of finishing it. In his Autobiography, Mark Twain 

describes reaching a point in the story ② which he felt 

unable to go: “My tank had run dry.” He abandoned it for 

two years and turned his mind to other things. When he 

eventually picked up the manuscript again, he made the 

“great discovery” ③ that the “tank” of his imagination had 

refilled ④ itself in the meantime, and he was able to 

complete the story. This discovery was a turning point in 

Twain’s writing career : he learned to watch out for the point 

in each subsequent book when his tank ran dry, and ⑤ to 

take a break before finishing it.

2-2. 다음 빈칸에 들어갈 말로 가장 적절한 것은?  
The most popular travel book ─ The Travels of Sir John 

Mandeville ─ appeared in about 1356 and immediately 

became astonishingly popular. This was the only travel book 

that Leonardo da Vinci possessed, and Christopher Columbus 

consulted it as he took his voyages. Scholars doubt whether 

there even was anyone named Mandeville, or whether the 

author of this account ever traveled further than his local 

library. His work is fanciful and entertaining and preserved 

many global misconceptions from the ancient world. When 

real travelers came back from abroad, if their experiences did 

not match those of the fictional Mandeville, they did not 

trust their own eyes. Thus, global misunderstandings 

persisted throughout the Middle Ages in spite of a good deal 

of global interaction.

① global misunderstandings persisted

② many misconceptions emerged newly

③ fictional experiences proved to be inaccurate

④ a collision between travelers and locals deepened

⑤ travelers set about further researches on exotic locations 

2-3. 다음 빈칸에 들어갈 말로 가장 적절한 것은? 
In a recent study led by Andy Baron at Harvard 

University, three- to five-year-olds were shown pictures of 

two groups of cartoon characters, one colored purple, the 

other red. One group did rotten things such as break toys 

and cause car crashes, while the other did nice things such 

as help others. If the children merely saw these differently 

colored and differently behaving characters, they didn’t seem 

to assign them a group identity. But if they were given 

names for the two groups (“These are the Nifs,” “These are 

the Lups”) they quickly figured out who were the good guys 

and who were the bad guys. In other words, at that age, the 

differences in the appearance of the two sets of characters 

(purple versus red) were not automatically seen as cues to 

group membership. But once the groups had names, the 

children became aware of the differences between them and 

understood that they belonged in different categories. 

*cue 단서, 암시

① identity ② producer

③ behaviour ④ personality

⑤ appearance

2-4. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절
     한 것은?   

But we have blind spots as well, so that our body 

image only approximates rather than coincides with 

reality.

 Many people lack a clear image of their bodies and do 

not take very good care of themselves. ① You’d think people 

would have a fairly accurate picture of their own bodies. ② 

After all, who is more familiar with our bodies than 

ourselves? ③ Each day, we spend an enormous amount of 

time receiving messages from our bodies, bathing and 

grooming ourselves. ④ A major reason is that our bodies are 

constantly changing, and there is a time delay in bringing 

our body images up to date. ⑤ Each of us tends to hold on 

to more or less outdated body images, such as the aging man 

who has difficulty recognizing the wrinkles in his face, his 

thinning hair, or his sagging waistline. 

*sag 축 처지다
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 2-5. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은? 

  

Oil and gas resources are not likely to be impacted by 
climate change because they result from a process that 
takes millions of years and are geologically trapped. 

(A) Thus, while climate change may not impact these 
resources, oil and gas reserves and known or contingent 
resources could be affected by new climate conditions, 
since climate change may affect access to these 
resources. 

(B) On the other hand, climate change may not only force 
the shutting down of oil- and gas-producing areas, but 
increase the feasibility of exploration in areas of the 
Arctic through the reduction in ice cover. 

(C) In Siberia, for instance, the actual exploration challenge 
is the time required to access, produce, and deliver oil 
under extreme environmental conditions, where 
temperatures in January range from -20℃ to -35℃. 
Warming may ease extreme environmental conditions, 
expanding the production frontier.

*feasibility (실행) 가능성 
**contingent resources 발견 잠재 자원

① (A)  (C)  (B)   ② (B)  (A)  (C)
③ (B)  (C)  (A)   ④ (C)  (A)  (B)
⑤ (C)  (B)  (A)

2-6. 다음 빈칸에 들어갈 말로 가장 적절한 것은?  
Employers have devised some strategies to accommodate 

family responsibilities mainly in order to improve recruitment 

and to reduce turnover among women workers. Employers 

with the most far-reaching programs are those, such as 

hospitals, that depend on a female workforce. When Kaiser 

Shipbuilding Company sought to recruit women workers 

during the labor shortage brought on by World War II, it 

provided on-site, around-the-clock childcare, facilities for sick 

children, and even cheap carryout dinners for working 

mothers to take home. But at the war’s end, when Kaiser no 

longer needed to retain women, it put an end to these 

programs. Almost half a century later, a few employers 

provide benefits similar to those that Kaiser provided. For 

example, Riverside Hospital in Columbus, Ohio, which has a 

female chief executive officer, provides on-site childcare 

(including care for sick children) and eldercare. 

*turnover 이직률

① provide economical benefits
② adopt the system of hospitals
③ support the nursing of the child
④ accommodate family responsibilities
⑤ innovate efficient working conditions

2-7. 다음 글의 밑줄 친 부분 중, 어법상 틀린 것은? 
A restaurant is a destination in itself as a place to eat, 

rather than (as with an inn) a place of local gathering or 

traveler’s shelter ① that also offers food. Within the restricted 

opening hours of the establishment, a restaurant offers a 

variety of dishes, more so than ② is the case with an inn. 

Thus most restaurants do not open for breakfast and those 

that do, outside of hotels or modern-day inns, specialize to 

some extent in this meal, but the meals they do serve ③ have 

more options than traditional inns could provide. At a 

restaurant one eats ④ that one desires from an often 

extensive menu. During most of its history, the restaurant 

has offered meals served by a waiter ⑤ whose job is limited 

to this. Rather than gathering with the other lodgers at an 

inn or guesthouse, the customers of a restaurant come with 

their friends, sit apart from others, and pay for a specific 

meal when they are finished.

2-8. 다음 글에서 전체 흐름과 관계없는 문장은?  
Throughout the 20th century, science was seen as the 

solution to the problems of land degradation and pollution 

resulting from agricultural and industrial activities. As a 

result, there is now an increasing focus on funding for 

science being linked to providing practical solutions to 

environmental problems. ① This creates a dilemma, for while 

excellent science can be conducted, science alone will not 

create widespread change, mainly because the channels to use 

this information and create change are poorly developed. 

② In order to create changes in behavior and beliefs of the 

general public, broader and more effective communication of 

the new scientific insights being gained is required. ③ With 

an extensive innovation of the excellent science, scientists 

finally find the way to lead the changes in environmental 

problems, which will exclusively provide the solutions for 

them. ④ Even where the solutions to environmental problems 

are clear, management, political, and ultimately public support 

are needed to implement the (usually) expensive solutions. 

⑤ Therefore, utilizing our current research effectively will 

require new tools to facilitate effective communication, not 

only to scientists, but also to managers, governments, and 

ultimately, the general public. 

*land degradation 토지 황폐화
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3-1. 다음 빈칸에 들어갈 말로 가장 적절한 것은?      
‘No man is an island’ is a phrase I grew up with. Poet 

John Donne wrote these words nearly 400 years ago, but 

they are more relevant today than they have ever been. We 

lead increasingly connected lives, and the sooner we realize 

the truth in this matter, the easier life becomes. We are all 

interdependent. We may think we live independent lives, 

especially if we live away from our families, but the reality is 

we depend entirely on our community for our health, wealth 

and mobility. Our ability to grow and succeed is 

complicatedly linked to the mindset and behaviours of others 

─ perhaps more so than ever before. It is undoubtedly true 

that we need to have self-belief and the courage for our 

convictions, but if we are to be successful at anything, then 

our ability to get on with        people is critical. 

*conviction 확신

① be our own man
② understand idioms
③ get on with people
④ mimic others’ behaviours
⑤ keep a strong personality

                                                       
3-2. 다음 글의 빈칸 (A), (B)에 들어갈 말로 가장 적절한 것은?

The dominant paradigms in academic computer science do 

not help technical professionals comprehend the social 

complexities of computerization, since they focus on 

computability, rather than usability.     (A)     , the ACM 

Task Force on the Core of Computer Science claims that all 

the analyses of computer science are mathematical. I find 

this view much too narrow-minded to be helpful, and in fact 

it does not withstand much scrutiny. The lines of inquiry 

where it might hold are those where mathematics can 

provide all the necessary analysis.     (B)     there are 

whole subfields of computer science, such as artificial 

intelligence, computer-human interaction, social impacts 

studies, and parts of software, where mathematics cannot 

provide all the necessary analysis. The social sciences provide 

a complementary theoretical base for studies of computing 

that examine or make assumptions about human behavior. 

*ACM 세계 최초의 컴퓨터 분야 연합 학술 단체 
**scrutiny 철저한 검토, 정밀 조사

     (A)        (B)

① In contrast    ……  However
② For instance   ……  However
③ As a result    ……  Moreover
④ For instance   ……  Moreover
⑤ In contrast    ……  To conclude

3-3. 다음 글의 밑줄 친 부분 중, 문맥상 낱말의 쓰임이 적절하
      지 않은 것은?  

As the game proceeds, your strength becomes a matter of 

great importance. You may be a very good player, but if you 

are not able to ① sustain yourself throughout the match, 

even the initial victory will have no meaning. For this 

energy has to be ② optimally used. At times it may be useful 

to ③ win a point or game in order to win the match. In life 

too, the resources are to be used in an optimal manner. For 

this at times failures are to be accepted ④ gladly. Those who 

fail to do so end up becoming laughing stocks, while those 

who do have the last laugh. Life has to be taken as a 

⑤ whole like a match of tennis. Victory in one or two games 

or sets has no meaning if you lose the match. Similarly one 

has to be victorious in life as a whole.

*optimal 최적의   **laughing stock 웃음거리

3-4. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절
     한 것은?     
 

But not everyone makes the same evaluation of 

the tradeoff.

 Although the case for freedom is strong, this goal cannot 

be pursued without limit. Almost everyone admits that some 

restrictions are necessary when the exercise of individual 

freedom endangers others or imposes large external costs. 

① A more subtle but more pervasive limit to freedom arises 

when it conflicts with the individual’s desire for security. 

② In the face of the complexities and uncertainties of 

modern life, many people willingly vote for programs 

that restrict freedom ─ their own and that of others ─ 

in exchange for the promise of greater security. ③ For 

instance, numerous laws deny consumers the freedom to buy 

products that have been judged to be dangerous. ④ Rational 

individuals will seek a perfect balance between freedom and 

security, but this balance varies among individuals, depending 

upon their ability to benefit from freedom and to bear the 

cost of insecurity. ⑤ This variation is the major reason why 

it is so difficult to reach agreement on this issue. 

*pervasive 넓은 범위에 미치는 

**tradeoff 거래, 교환 (협정)
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3-5. 다음 빈칸에 들어갈 말로 가장 적절한 것은?            
The right of autonomy, as I see it, is not rooted in any 

idea that rational decision making is intrinsically valuable or 

in the self-confident faith that people will use their 

opportunity to make the best possible choices. All the more, 

I would not want to say that people have a right of 

autonomy only to the extent that we expect they will make 

rational choices. Within limits, people should be allowed to 

make their own choices even if the choices are likely to be 

foolish. Questions about the justification and limits of the 

right of autonomy are difficult; but I hope that, on reflection, 

most would agree that we are not entitled to interfere with 

others’ crucial life choices just because we believe they are 

likely to be nonrational or unwise.

*autonomy 자율성

① it’s inevitable to put a limit on

② we are not entitled to interfere with

③ we should renounce our autonomy for

④ the rational dictator should mediate between

⑤ the most ironic situation will occur regarding

3-6. 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 것
       은?     

However, it is important to realize that group 

achievement is rarely the result of equal input 

from all team members.

 Because quality recognition is personal and indicative of 

higher-order attributes, it needs to be delivered in private. 

① It is useful, of course, to recognize teams of workers for 

their accomplishments, and this can be done in a group 

setting. ② Usually, group accomplishment worthy of 

recognition can be documented for public review. ③ Because 

individual responsibility is diffused or dispersed across the 

group, there is minimal risk of individual embarrassment or 

later peer harassment. ④ Some take the lead and work 

harder, while others do less and count on the group effort to 

make them look good. ⑤ Thus, it is important to deliver 

personal and private recognition to those individuals who 

went beyond the call of duty for the sake of their team. 

*peer harassment 동료에 의한 괴롭힘

3-7. 다음 빈칸에 들어갈 말로 가장 적절한 것은?   
Sometimes one’s job can become so repetitive and boring 

that one feels that he is left with no option but to stop 
doing it. Giving up under this circumstance is not the best 
option. Reverse your thoughts and think positively and 
renew your enthusiasm and effort. In his book Become a 
Better You: 7 Keys to Improving Your Life Every Day, Joel 
Osteen emphasizes that we should always be reaching for 
greater      heights in our abilities, spiritual walk, finances, 
careers and personal relationships. We may have achieved a 
certain level of success, but there are always new challenges 
to meet or other mountains to climb. Nelson Mandela is 
reported to have discovered the secret that after climbing a 
great hill, one only finds that there are many more hills to 
climb. Sometimes when you are enjoying your life, it is easy 
to become self-satisfied. The best is yet to come. Don’t allow 
your life to become dull.

① greater heights

② passionate goals

③ a level of mastery

④ satisfying moments

⑤ a state of transcendence

3-8. 다음 글의 밑줄 친 부분 중, 어법상 틀린 것은?    
Famous professional football coach Vince Lombardi used 

the power movie technique to prepare his Green Bay Packers 

for a game against the Detroit Lions. He used a highlight 

film of the Packers’ best running plays against the Lions in 

previous games. Everything in the film ① was successful. 

The linemen made their blocks, the running backs ran ② 

hard and held onto the ball ─ every player did his job. He 

used this technique to reinforce the positive behaviors ③ 

that he wanted his team to demonstrate during the next 

game. The entire focus was on the ④ desiring outcome: a 

successful running game. Everyone on the team got the 

message! The Packers ⑤ defeated the Lions easily that day 

and had one of their most successful games of the season. 

When you are in a slump about some aspect of your 

personal or professional life, take some positive action. Go to 

a quiet spot, relax, and play some power movies in your 

mind of you at your best. It’s powerful and it works.

*lineman 미식축구의 전위 선수 

**running back 미식축구의 공을 받아 달리는 공격수
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